Chapter 28: Project Risk Management (FPM2ed p.354)
1. Risk Management Model

2. Body of knowledge Mapping

3. Risk and Uncertainty Continuum

4. Risk Management Process

5.Define Objectives

6. Risk Identification

7. Why Projects Fail

8. Risk Quantification

9. Risk Response

10. Contracting

11. Response to an Opportunity

12. Risk Control

The following questions have been designed to test your knowledge of the chapter and prompt discussion. Please note that each question could have one or more correct answers.

28.1: Which three of the following relate to Project Risk Management? (FPM2ed p.354)
a. Risk planning.
b. Risk identification.

c. Risk mitigation and control. 

d. Risk continuous improvements.

28.1 Answer: A, B and C are correct. Risk management includes the processes and activities that enable the project manager to ensure that the project can achieve its objectives at an acceptable level of risk. D is incorrect as continuous improvements are a quality management function not a risk management function.

28.2: Which one of the following outlines the Risk Management Model? (FPM2ed p.357)
a. Define Objectives, Identify Risks, Quantify Risks, Closeout Report.
b. Define Objectives, Identify Risks, Quantify Risks, Develop Response.
c. Define Project Plan, Identify Risks, Quantify Risks, Closeout Report.
d. Define Business Case, Identify Risks, Quantify Risks, Develop Response.
28.2 Answer: B is correct. A, C and D are incorrect.
28.3: Which two of the following are Project Risks?
a. Events that prevent the project achieving its objectives.

b. A competitor that brings a better product to market.

c. Unable to complete the project within the assigned budget.

d. Realising a return on investment.

28.3 Answer: A and C are correct. Project success factors are typically expressed as time, cost and quality objectives. A risk can then be defined as any situation or event that prevents the project achieving its declared objectives. B is incorrect as this is a business case risk which is different to a project risk. The project could be successful, finishing on time and within budget, but the business case could still be a commercial failure. D is incorrect because, as B above, this is a business risk (realizing benefits for the company) not a project risk. 

28.4: Which one of the following has the authority to determine the Acceptable Level of Risk within the project?
a. The project manager.

b. The CEO and the board of directors. 

c. The project team members.

d. The project sponsor.

28.4 Answer: B is correct. The CEO and board of directors represent the company shareholders who are ultimately responsible for the company’s liability. It makes sense, therefore, that the CEO and the board of directors are the only people who can set the acceptable level of risk. A and C are incorrect as the project manager and the team members do not represent the company shareholders and, therefore, do not have the authority to determine the acceptable level of risk within the company or project. They might however be asked to compare the project risk, which is outlined in the project charter and project plan, to the corporate level of acceptable risk. D is incorrect as explained above the project sponsor does not represent the shareholders. 

28.5: Which two of the following relate to the Risk Identification Process? (FPM2ed p.359)
a. It is the project manager’s responsibility to identify and document the characteristics of the uncertainties and potential problems that could limit the project achieving the objectives outlined in the project charter. 
b. It is the project manager’s responsibility to identify any potential problems that could prevent the company realizing benefits as outlined in the business case.

c. The risk control process regularly assesses all aspects of the project to identify any new risks.

d. It is the project manager’s responsibility to ensure that all the team members have different user IDs.

28.5 Answer: A and C are correct. The risk identification process is the start of the risk management process. If a risk is not identified its impact will not be assessed until it is too late. The purpose of the risk control process is to ensure that all potential risks that could prevent the project reaching its objectives are continually considered throughout the project. B is incorrect as it is the project sponsor’s responsibility to identify any potential problems that could prevent the company realizing benefits as outlined in the business case. D is incorrect as user ID is not part of the risk management identification process.

28.6: Which two of the following relate to the causes of Project Failure? (FPM2ed p.361)
a. The project manager was assigned an unrealistic budget.

b. Misinterpretation of the corporate statement of requirements that led to a misleading business case.

c. The project manager was given an unrealistic schedule.

d. A competitor produced a more attractive and marketable product.

28.6 Answer: A and C are correct. Projects are often deemed to have failed because the estimating and planning were based on unrealistic assumptions at the project charter level. These unrealistic assumptions often manifest themselves as an unrealistic budget and an unrealistic schedule, consequently the project ends up over budget and late. B is incorrect as this relates to the strategic business case and not the project. D is incorrect as this relates to the success of the business case and realizing benefits for the company not the project’s critical success factors. 

28.7: Which two of the following relate to Risk Quantification? (FPM2ed p.364)
a. Risk quantification uses statistical quantitative assessment methods to determine the frequency and probability of a risk occurring.

b. Risk quantification uses qualitative risk assessment methods based on educated opinions to produce a relative comparison of the identified risks. 

c. The level of project risk is determined by the configuration management team.
d. Risk quantification uses statistical mitigation assessment methods to determine the frequency and probability of the risk occurring.

28.7 Answer: A and B are correct. From the project manager’s perspective project risks are often presented as a matrix of frequency of occurrence plotted against the impact on the project. This helps to put project risks into perspective, for example, the high impact risk that is highly unlikely to happen (such as a meteorite) against a lower impact risk (such as inclement weather) which happens more frequently. C is incorrect as determining the level of risk is not a configuration management function. D is incorrect.

28.8: Which three of the following relate to Risk Response? (FPM2ed p.365)
a. The first response to risk is by the fire brigade and ambulances.

b. Eliminating risk looks into ways of removing the risk completely.

c. Deflecting the risk transfers the risk to another party, for example, insurance. 

d. Mitigating the risk reduces the risk occurring and, if it occurs, reduces its impact on the project.
25.8 Answer: B, C and D are correct. These are three of the different types of risk response. To this list could have been added the acceptance of the risk with a contingency. A is incorrect as these do not relate to project risk.

28.9: Which two of the following can be used to Deflect Project Risk? (FPM2ed p.365)
a. Use a fixed price contract to deflect cost risks to the contractor. 

b. Use insurance to deflect insurable risks to the underwriter.

c. Use a reimbursable cost-plus contract to deflect risk to the contractor.

d. Use a closeout report to deflect scope of work risks to the quality control department.

28.9 Answer: A and B are correct. Deflecting risks transfers risks (in whole or part) to another party. Fixed price contracts and insurance are two methods of transferring risks to another party. C is incorrect as in a reimbursable cost-plus contract the risk is held by the client. D is incorrect as a closeout report is not related to either the scope of work or the quality control department.

28.10: Which three of the following relate to Risk Control? (FPM2ed p.366)
a. Risk control measures the project’s progress every week.
b. Risk control identifies potential risks.

c. Risk control quantifies potential risks.

d. Risk control turns risks into opportunities.

28.10 Answer: B, C and D are correct. A is incorrect as progress is part of project scheduling.
